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Form. Why is it worse to get a primary radical when a secondary cation is stable versus 
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[bookmark: _GoBack]Is it so that 1 unstable (a)  and 1 stable (b) forms less than 2 components that has stability between (a) and (b)?Could one come up with a general explanation for that situation as two unstable fragments as in II forms more readily than one more stable and one less stable relatively to II as in I?
I know that the primary radical is unstable but the secondary cation is more stable than other products. Could one explain this by rate laws or rate constants mathematically? And in general explain which radicals and cations that are formed for normal alkanes?
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PHOBLEM 8¢

Tdentify the hydrocarbon that has a molecularion with an 7 value of 128, a base peak with an
m/z value of 43, and significant peaks with m/z values of 57,71, and 85.
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8 Ahydrocarbon with molecular formula CyHy, has a molecular mass of 128,
Since CyHay = CHae2, we know that the hycrocarbon has no rings and no = bonds. The hydrocarbonis

2,6-dimethylheptane.
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2 Methyloctane would also be expected fo give a base peak of /< = 43 because i, too, will form a sec-
ondary (isopropyl carbocation) ogether with a primary raical. Al ther cleavages that form primary adi-
cals form primary carbocations. However, we would expect ragments with /2. = 29 and 99 to be present
1o the same extent a5 hose with m/2 = 57, 85, and 71 Because fragments with /2 = 29 and 99 are not
mentioned, we can conclude tha the hydrocarbon shosn below i les likely than he one shosn above.
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